1Y 22, T s, E2I B

= 8Y/HMIZ olo|x]

==
=

HH OIF2]:
G| ot =3
DIN787 T-2R & ﬁﬂw DIN 6340 244, DIN 6330B L1E Z &

HH.
IMEZ2E =20 X|&Xo 2 Tl MEof TASI0{ U= |
Lic 1% B2 o BBOIE Cefs BHE A7} 2lon] B0 0f2t
EMAE = et el E4 e HI-EA JHE #ak oLt Z
A ME S8 BOME OHYStH THERE MEE = U&LCH

Ol A
MRE

oOFO

HMIAIZ]:
15 &l
=i
L1
apulll
‘ 1 ) | |
= |
< i NAINAY ~ ’
2]
I‘ : | 2
—
H [ =y
!i! ‘
L2 |
D
f \
@ @
! 1
- L -
£= 20
FEHS Efo]] 7% 2 B B1 D E H H1 H2 H3 H4 L L1 L2 £% 44| ks EFFEE
23T e LEAT kN
K1165.210115100 B t-&2 US 44 30 13 11 0-40 18 27 17 12 115 25 30 10 M10X100 25
K1165.212115125 B &2 U2 44 30 13 11 0-55 18 27 17 12 115 25 30 12 M12X125 30
K1165.214115125 B &2 US 44 30 13 11 0-55 18 27 17 12 115 25 30 14 M12X125 30
K1165.212150160 B t-&2 US 55 41 17 12 0-70 20 36 21 17 150 35 36 12 M12X160 35
K1165.214150160 B t-&2 U= 55 41 17 12 0-70 20 36 21 17 150 35 36 14 M12X160 35
K1165.216150160 B &2 US 55 41 17 12 0-70 20 36 21 17 150 35 36 16 M16X160 40
K1165.218150160 B t-&2 US55 41 17 12 0-70 20 36 21 17 150 35 36 18 M16X160 40

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[}
XN = b | 3 (o]
E=ZE Y
FEHS Elel ®HX2 B B1DE H H1 H2 H3 H4 L L1L2 &% 4H| ks FHEH

S He LEAH kN
K1165.216187200 B 22 A2 62 30 21 14 0-80 30 42 27 20 187 44 44 16 M16X200 55
K1165.218187200 B &2 A2 62 30 21 14 0-80 30 42 27 20 187 44 44 18 M16X200 55
K1165.220187200 B &2 U2 62 30 21 14 0-80 30 42 27 20 187 44 44 20 M20X200 60
K1165.222187200 B -2 UZ 62 30 21 14 0-80 30 42 27 20 187 44 44 22 M20X200 60
K1165.220235250 B t-&2 AS 70 30 25 17 0-100 31 51 34 24 235 60 47 20 M20X250 70
K1165.222235250 B &2 U] 70 30 25 17 0-100 31 51 34 24 235 60 47 22 M20X250 70
K1165.224235250 B &2 U8 70 30 25 17 0-100 31 51 34 24 235 60 47 24 M24X250 75
K1165.228235250 B -2 A2 70 30 25 17 0-100 31 51 34 24 235 60 47 28 M24X250 75

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



